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(1) |vie+v=6a= ... 0§
Y

(2) |Tf ¥x =25, thenx = ... 125§
Y

k) |va7 v gr &
Y

(4) |If x° - 64, then Vx= ... w2 <
Y

(5) |If ¥x - 4, then Vx= ........ 8" <
Y

(6) |If |x| =8, then ¥x= ... “+2" §>
Y

7 | ¥ =y E
Y

(8) |The S.S. of the equation: x*+4=0 in Q is ........ " §>
Y

©) |1f -4 thenx = ... w2r &
Y

(10) | V25 -3-125 = ... *10” %
(11) |¥125 + ... =7 2" §>
Y

(12) |If ¥x+1 =3, thenx = ... "26" §>
Y

(13) |If Vx-2 = 4, then %x= ......... "g” %
(14) |If x*-1 = 15, then x = ... “+4" %
(15) |If ¥x -2 =1, thenx = ... 27" %
(16) | The edge length of a cube whose volume 216 cm® “e ;
[ cm §>

Y

(17) | The S.S. of the equation: (1) §>
(x+3’=64iInQis ... !
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(18) | The S.S. of the equation: {1y

@x+1°-7=20inQis ...

(19) |If x =3%512, then x = ... 2"

(20) | Which of the following numbers is irrational:

l ; i l\\/zll
PRI

(21) |From the following numbers, the irrational

number that lies between 2 and 3 is ........ 2"
Jio , J7 , 25, V2

(22) |[If x e Z°and x <26 < x+1, then x = ... "5"

(23) | The area of square of side length V3 cm wgn
. 2
IS oo cm

(24) | The side length of a square whose area 10 cm? Q
is a number ¢ ... N,Z,Q.,Q)

(25) |If x e Z°and x <¥37 < x+1, then x = ... "3"

(26) |If x e Z" and x+1 <10 < x+2, then x = ... "2"

(27) |If x e Zand x < /17 < x+1, then x = ... “-5"

(28) |If x € Z and x<‘—ﬁ‘<x+l,1’henx= ......... 5"

(29) |The S.S. of the equation: . .

3 2 o . . {\/51_\/51 ﬁ}
(x°+5)(x°-3)=0in Q' is ........

30) | QUQ' = ... “R"
QNQ = .. o
R-Q-= ... Q"
R-Q = ... Q"
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(34) |IR" "R = ... "
(35) IR"UR = ... "R™
(36) |[R* - R = ... “(0}"
(37) |The 5.S.of xX* +1 =0inRis ... "o
38) | The S.S. of the equation:

P (x2+5)(x2-3)=0 iNRiS ..o, ¥R

(39) | The S.S. of the equation: “0.1 -1)"

x (x*-1)=0inR is ...
(40) | The S.S. of the equation: "6, -2}"
(x-2Ff-1=15 inRis ...

(41) | The set of real number as an interval ... "]-o0, 00"

(42) | The set of positive real number as an interval is 0, oo["

(43) | The set of negative real number as an interval is “1o0,0["

(44) The sef. of non-negative real number as an “[0, oof"
interval is .......

(45) |3 ... [3.5] (e or &) te”

(46) |[-1,5] - 1-1,5[ = .............. “{-1,5)"
[-1,6]-{-1,B} = ......... "1-1,5["
[-1,5]-[-1,5] = .......... "
[-1,5]~]-1,5[ = .......... "1-1,5["
R* " [-1,3] = "10,3]"
{8,9,10} - 18,10] = ... "{8}"
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52) |Z"n[-1,5]) = ... "{1,2,3,4,5)"
(53) |If x € [-1,5], then x* € ........... “[0,25]"
(54) [ The sum of all real numbers in the interval "Zero”

[-80,80] is ..........
(55) |If X = [-1,3] and Y = [0,5], find using the
number line: “[0,3]"
(QXNY = ... “[-1,5]"
By XuUY=.... “[-1,0["
©@X-Y = ...
(56) |If X = ]-®,3] and Y = ]-1,5], find using the
number line: "1-1,3]"
(@QXNY = ... "]-w,5]"
by XuUVY-=.... "13, 00"
© X' = ...
(57) |7 +J7 = ... "[2v7]"
(58) | @¥5)= ... “40"
(59) | The additive inverse of % iS .. [~ 243]"
(60) | The additive inverse of V3 -7 is ... '[V7 - V3T
(61) | The multiplicative inverse of % ([ — "[3v2]"
(62) |If X = V2+5 and Y = J2 -5, then (X + Y)y=... 8"
(63) |If x? =(2v3-47)@V3++7), then X = ... “+.5"
(64) |If X = V6 ++3 and Y = V5 -3, then XY=....... 2"
(65) | The conjugate of V2 -7 is ... V2 + 7'
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(66) | 1f x - ﬁ then x! = ... V3. 3
\/E 3 §

(67) |V5, 245, 35, 45, ... (in the same pattern) “5,5" %
(68) |If 2427 -2J48 = x43, then x = ... n_p" %
(69) If a* =6 and a7’ = \/5, then a*"7 = ... “2.3" %
(70) |If Vx =3++2, thenx = ... “11+ 642" %
(71) |Half of V28 is ... “ 7 %
(72) Simplify: 2.5 + 4420 + 5\% "9.5" %
A

(73) |If x=45++3 and y = V5 -3, find the value “20" %
of x%+2xy + y>2. ;

(74) | Simplify: 50 - V18 + /32 “6v2 " %
(75) |If x=+v5+2 and y = V56 -2, find the value of ¢
X+ Yy . “2\/5 0" §

. ¢

(76) | simplify: 2418 — /50 + %m “jz %
A

(77) |If x=+V5++2 and xy = 3, find the value of “gr %
x*—2xy + y? 1

'

(78) | 1f x=ﬁand y =7 -3, “x=J7 +3" i
(a) Prove that x and y are conjugate. 4 ;

(b) Find the value of xy and (x+y)?. 28 §>

Y

(79) |If x=+5++3 and 2y = 6 + 3, find the value . ; §>
of x* - y° 415 !

' 3

(80) |If x* - y? = 60 and x+y=5/6, then x-y = ... 26" §>
%
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(81) | The area of rectangle whose dimensions are wo
(V3 +1)em and (V3 -1)em is .......... cm’.

(82) | simplify: (8 + 75 - 1 viz - 4 43"

(83) |If y =+2++3, then y*-2y?+1 = . "4+23"

(84) | The nearest integer to ¥-28 is ... "-3"

(89) |® € ... Q.QA.Z,N) Q™

(86) |If 2x=+12, then x = ... "3

(87) | The slope of vertical line is .............. “undefined”

(88) | The slope of horizontal line is ............. “0"

(89) | The volume of the cuboid whose dimensions are “e
J2Zem, y3cm and Jécm is .......... cmd.

(90) | If (k,3) satisfies the relation x+y=1, then k=.. "-2"

(91) |If (3k,2k) lies on the straight line x-3y=9, then “_gn
k= ..

(92) | The volume of a cube is 27cm®, then the area of wg
its face = ... cm?.

(93) | The relation 8x+3y=24 represented by a “(0.8)"
straight line intersects y-axis at the point ......... ’

(94) | The point that satisfies the relation x+2y=5 is wo
1,..)

(95) | The slope of the straight line which “0"
perpendicular to y-axis is ...

(96) | The sIoRe of the s'rr'al‘gh.'r line which “undefined"”
perpendicular to x-axis is ........
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A

Y

(97) | If A(3,2) and B(x,1) and the slope of AB = 1, o §
then x = ... §>

9 A

(98) | If the volume of a sphere is Rncm3, then the “3. §>
length of its diameter = ... cm 2 %

(99) |If (2,-5) satisfies the relation 3x-y+c=0, then “_11" ¢
— <

Y

(100)| The cube whose volume 8 cm®, the sum of all its wo4n §>
edges = ... cm. %

)

(101)| A cube of volume 1 cm?, its lateral area = .. cm® 4" §>
]

(102) | The slope of straight line which passes through 0" '
the two points (3,2) and (4,2) is ....... §>

Y

(103)| 32 +3¥2 = ¥... "16” §>
Y

(104)| The volume of a sphere of diameter length 6cm “36" §>
[E— T cm’. §>

A

(105)| The S.S. of the inequality: V6x <5 inR is ... *1-c0,51" §>
A

(106)| The S.S. of the inequality: -2x <0 inRis ... "[0, oo[" §>
]

(107)|If 1 <x<4,then2x -1 ¢ ... “[1,71" %
)

(108) | The intersection point of the two straight lines " W
! 0.0 <

x=0 and y=0 is ......... )

Y

(109)| The intersection point of the two straight lines “ v §>
: 1,-4" |

x-1=0 and y+4=0 is ........ §>

A

(110)| A sum of all edge lengths of a cube is 48 cm, “1g" %
then the area of its face = ... cm?. :

(111)| In the relation y = 3x + 4, if x=1, theny = ... 7" %
112)| If the area of a sphere is 4n cm?, then its e §>
(112) P : 1 [
radius length = ... cm. §>
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(113)| The S.S. of the equation: y3x-2=1 inRis ... “{J3}"
(119)| simplify: 24 - 3\/2 “0"
(115)| The volume of a cube is 5V5cm®, its lateral area “20
iS oo cm’.

(116)| The lateral area of the cylinder = .......... “2nrh"”

(117)| The total area of the cylinder = ........... “2nr(h+r)”

(118)| The mean of the values: 3, 5and 7 is ... 5"

(119)| If the order of median of values is the fourth, -
then the number of these values is ........

(120)| If the mode of the values: 4,11,8 and 2x is 4, wo
then x = ...

(121)| If the mean of 6 values is 5, then the sum of “30"
these values = ...

(122)| If the mode of the values: 5,7,8 and x* is 8, “6"
then 3x = ...

(123)| If the mode of the values: 5,9,5,x-2 and 9 is “yq"
9, then x = ...

(124)| If the intersection point of the ascending and
descending cumulative frequency curves is 62"
(31,50), then the sum of the frequencies = ... “50"
and the mode is .......

(125)| The median of values: 34,23,25,40,21,4 is ... “24"

(126)| The center of the set whose upper limit 8 and “e
its lower limit 4 is ...

(127)| If the lower limit of a set is 4 and its center is wge

6, then its upper limit is .........
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A

'

(128)| If the mean of values: 18,23,29,2k-1 k is 18, wepi §>
then k = ... §>

1

(129)| Mode, mean and median are called .................... “central §>
measurements. tendency” ]

Y

(130)| The mean of frequency distribution =......... W XXF, §>
s 2

A

(131)| If the order of median of a frequency §>
distribution is 30, then the sum of these “60" ¢
frequencies is ... <

A

(132)| If the mean of values: 4,2,x+1 is 4, then x=.... “5" §>
m %

3

Y

Essay Problems <

)

Y

(133) | If 2x+2y=10, then the arithmetic mean of R §>
xand y is ... 2.5 §>

(134) | If the order of median of values is 5™ and 6™, I
then the number of these values is ... 10 <

A

Y

(135) simplify: 2J5(\5 - 2) + 420 - 10\% "10- 45" §>
Y

(136) | Simplify: 3128 + 316 - 2354 0" §>
Y

(137)| simplify: V125 - 32 + ;316 + V20 75 £
Y

(138) | Find the 5.5. of the inequality: 2x + 3 < 1 § .S
in R, and represent it on the number line. ]-,-1] §>

(139) | Find the S.S. of the inequality: 1< 2x + 3 <9 in . .
R, and represent it on the number line. 1-1.3] §>

(140) | Find the S.S. of the inequality: 9 - 2x < 7 o §>
in R, and represent it on the number line. 11, ¢

(141) |Find the S.S. of the inequality: 7x+3 < 6x+5 . . §>
in R, and represent it on the number line. ]-=.2[ §>
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Find the S.S. of the inequality:

<o>)®(<o>)®(<o> @

2x+3 < bx+3 < 2x+9 in R, “[0,2]"
and represent it on the number line.

(143) | Find the S.S. of the inequality: 16 > 3x+7 > -2 . ;
in R, and represent it on the number line. [-3.3]

(144) | A right circular cylinder, its hieght equal to its
radius length, its volume is 216n cm®. Find its "6 cm"”
height.

(145) | A sphere of volume 36n cm®. Find its surface . o
area in the term of =. 36m cm

(146) | A metallic sphere its diameter is 6 cm, was
melted and converted to a right circular cylinder } .,
the radius length of its base is 3 cm. Find the 4 cm
height of the cylinder.

(147)| A right circular cylinder, the radius length of its ) 2
base is 5 cm and its height is 7 cm. Find the 990 em’™”
volume of the cylinder and its lateral area. 220 cm

(148) | A right circular cylinder of volume 547 cm®, and
its height equals to the diameter length of its “361 cm?”
base. Find its lateral area in term of .

(149) | Find three ordered pairs satisfies the relation: 0.5)

x+y=95 (5.0)
and represent it graphically. (1.4)

(150) | If the slope of the straight line which passes
throught the points (3,-1) and (7.k) is 3. find o
the value of k.

(151) | If the straight line that passes through the
points (3,4) and (2,k) is parallel to x-axis, then “4"
find the value of K.

(152) | Find the slope ofﬁ, where A(-1,3) and B(2,5). w2
Is C(8,1) lies on AB? 3
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If (2k, k) satisfies the relation x+y=15, find the
value of k.

<o>)®(<o>)@(<o>

G

Prove that A(4,-3), B(-6,7) and C(5,-4) are
collinear.

(155)

If (k,3) lies on the stright line that represents
the relation kx+y=12, find the value of k.

“i3"

(156)

If (a,2a) satisfies the relation y=3x-1, find the
value of a.

\\1"

(157)

If (-3,2) satisfies the relation 3x+by=1, find
the value of Vb + 4.

\\3"

(158)

If A(1,1), B(2,2) and €(3,k) are collinear, find
the value of k.

\\3"

(159)

Represent graphically the relation x-4y=4

(160)

Represent graphically the relation y=2x+1

(161)

From the following frequency distribution:

Sets - | 15- | 25- | 35- | 45- | Total

frequency | 4 5 k 3 2 20

(a) Find the value of k.
(b) Calculate the arithmetic mean.

\\6"
\\27"

IRﬂ:;AIiiruL:c;mr
A tank of water is filled with water completely.
A tap is opened below the tank to empty it 5 the
opposite graph represents the relation between
the time (1) in minutes and the amount of water
remained in the tank (v) in litres :

28 What is the greatest capacity of the tank ?

" (10.500)

%
n 9

E What is the amount remained in the tank »
after 20 minutes ?

Y1) What is the rate of emptying the tank ?

¥ What is the time needed to empty the tank? | \(20250)

73
.

T~

: ( Time in minutes)
-
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SECOND: GEOMETRY

0
\_/VW
Complete:

(1) |If 4 cm and 6 cm are two side lengths of an
isosceles triangle, then the length of the 3™ side "g"
[ cm

(2) | The measure of the exterior angle of the "1 20"
equilateral triangle is ........... °

(3) |In A ABC if m(«B) > m(«c), then AC ... AB S

(4) |If two angles of a triangle are congruent, then “conaruent”
the two sides opposite to these two angles are “isozceles”
..................... and the triangle is an ..............

(5) 11.':: longest side in the right-angled triangle is “hypotenuse”

(6) |The bisector of the vertex angle of the isosceles "bisect”
triangle ... the base and ........... to it. “perpendicular”

(7) | The isosceles triangle has ... axes of symmetry. 1"

(8) | The equilateral triangle has .. axes of symmetry. "3"

(9) |The scalene triangle has ... axes of symmetry. "0"

(10) | Triangle of side lengths 4 cm and 9 cm has one
axis of symmetry, then the length of the 3™ side 9"
(L J— cm

(11) | The median of the isosceles triangle drawn from “bisect”
its vertex .......... the vertex angle and ................ " 'szt.: lar”
to the base perpencictiar

(12) | If C € the axis of ﬁ, then ....... = e “AC=BC"

(13) | In a triangle, if two sides have unequal lengths, ooroat
then the longer is opposite to the angle of the mir;z::.
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A

Y

(14) | In a triangle, if two angles are unequal in “oreat §>
measure, then the greater angle in measure is i:;hir Y
opposite to the side of the ... §>

Y

(15) | In A ABC, if m(£A4)=120°, then the longest side - §>
[ — §>

(16) [In A ABC, if m(«c)=70° and m(«B)=60°, then o ;
AB ... AC <

(17) | ABC is an isosceles triangle, m(£4)=100°, then “a0" §>
m(£B)= ........ ° :

(18) | ABC is an isosceles triangle, m(£A4)=60° and its - §>
perimeter is 15 cm, then AB=.... cm. §>

)

(19) | If the measure of an angle of the isosceles o . Y
. ) o " equilateral §>
triangle is 60°, then it's called ........... )

Y

(20) | The perpendicular bisector of a line segment is “axis of §>
called ... symmetry” §>

(21) | Of the lengths of two sides in a triangle are ;
2 cm and 7 cm, then the length of the third side "15,9[" <

iS €7 o o [ |

(22) | Any point lies on the axis of a line segment is at “equal %
................................. from its terminals. distances” <

)

. o o o ;

(23) | The length of any side in a triangle |s the “less Than" §>
sum of the lengths of the two other sides. )

Y

(24) | If ABC is a right-angled triangle at B, then the “AC™ §>
longest side is ........... §>

(25) | The triangle which has two angles of measures "o ;
45° and 65° has ...... axes of symmetry. §>

(26) | In A ABC, if AB=AC and m(z4)= 70°, then - §>
m(£B)= ... ° ;

(27) |In A ABC, AB + BC - AC > ..... 0" §>
Y

(28) | In A ABC, if AB > AC, then m(2C)......m(<B) " <
The base angles of the isosceles triangle are ..... “congruent” §>

)

Y
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(30) [ In the isosceles right-angles triangle, the “45"
measure of any angle of its base is .....°
(31) | If x,7,4 are lengths of sides of a triangle, then “3ex<11"

If the measure of an angle in a right-angled
triangle is 45°, then the triangle is ...

“an isosceles”

(33) | The numbers 3,6, ..... can be the lengths of sides “g
of an isosceles triangle.
(34) | The triangle whose side's lengths are 2 cm, 5 cm wo

and (x+3) cm, is an isosceles if x =

OO~

......

Choose the correct answer

(1)

(2)

(3)

(4)

(5)

The medians of the triangle intersect at ...... point.

O 1 O 2 O 3 O 4
The right angled-triangle has ........ medians.
© o 0 1 O 2 O 3
The point of intersection of medians in the triangle divides
each of them in the ration ....... from the vertex.
e 1:3 O 3:1 O 2:1 ¢ 1:2
The point of intersection of medians in the triangle divides
each of them in the ration ....... from the base.
e 1:3 O 3:1 O 2:1 ¢ 1:2
If AD is a median in A ABC, M is the point of intersection of
the medians, then AM = ... AD

1 2 1 1
© 3 O 3 (C e (d
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7)

(8)

(9)

(10)

(11)

(12)

(13)

If AD is a median in A ABC, M is the point of intersection of

the medians, then AM = __. MD

1 1
© 2 (b I O 3 (d I
The length of the median drawn from the vertex of the right
angle in the right-angled triangle = ...... the length of the
hypotenuse.

1 1
© 2 0 ; O ; O 3

The length of the hypotenuse of the right-angled triangle
z the length of the median which drawn from the vertex
of the right angle. —

® half ® twice ® third ® quarter
If A ABC is a right-angled at B, AB=6 cm and BC=8 cm, then
the length of the median drawn from B = ... cm

®© 10 0 4 ® 5 ® 3

If A ABC is a right-angled at B, AC=20 cm, then the length
of the median drawn from B = ... cm

©® 10 ® 8 ® 6 ¢ 5

In A ABC, m(28)=90°, AC=12 cm and BD is a median, then

O 12 0O 6 O 24 ® 10

The length of the side opposite to the angle of measure 30° in
the right-angle triangle ......... the length of the hypotenuse.

© twice ® half ® square ® equal
In A ABC, m(28)=90° and m(/4)=30°, then BC= ...

fa %AB b %AC‘ O 248 O 2AcC

Mohamed Alazmazy Mahmoud Moheb
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(14)

(15)

(16)

(17)

(18)

(19)

(20)

(21)

(22)

Final Revision 2" Prep. 15" term 2021

In A ABC, m(«B)=90° and m(£A)=60°, then AC= ... AB

1 1
2 I O 3 O ; 3
In A ABC, m(«B) = 90°, m(zA4) = 30° and AC = 10 cm, then
BC = ... cm

© 20 ® 15 O 10 ® 5

The measure of exterior angle of the equilateral triangle

® 60 ® 120 ©® 180

In A ABC, if AB = AC, then the exterior angle at the vertex
CiS .

©® acute (® obtuse @ reflex

® right

In A ABC, if AB = AC and m(zA4) = 60°, if its perimeter is
18 cm, then BC = ... cm.

© 18 O 3 O 6 ® 60

If the measure of one of the two base angles of the isosceles
triangle is 40°, then the measure of its vertex angle is ....°

© 40 ® 100 ® 80 ® 50

ABC is an isosceles triangle, if m(£4)=100°, then m(«8)=....°

© 100 ® 180 ® 80 ® 40

In A ABC, if AB = AC and m(z£A4)= 40°, then m(«c)=...°
® 40 ® 70 ® 140 ¢ 50

The triangle which hasn't any axes of symmetry is ........

® scalene b)

isosceles @ equilateral ) otherwise
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(23) If A ABC has one axis of symmetry and m(£8)=140°, then
m(ZA) = ... °

© 30 ® 20 ® 40 ® 60

(24) 1In A ABC, if m(«B8) = 65° and m(«A4) = 50°, then it has ...
axes (axis) of symmetry.

®© o 01 (c I ® 3

O T~

Essay Problems

(1) In the opposite figure : -~
E is the midpoint of AB s D is the midpoint of BC E
Eﬂ@={M} sMC =5cm.and MD =2 cm.
Find : The length of each of AD and ME.

(2) In the opposite figure :

ABC is a triangle in which CD»

BE two medians intersects at M
if:DC=9cm. sBM=4cm. ,BC=8cm.
Find : The perimeter of A MDE

In the opposite figure : AABC sAC=8cm. »
m (£ BAC)=60° sm (£ ABC) =90° ,

D is the midpoint of AC

Find : The perimeter of A ABD

In the opposite figure : e P
m (£ B)=90° » A

m (£ ACB)=30° » F
E , F are midpoints of AD ,DC S
Prove that : AB = EF B * C

G
(
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In the opposite figure :

m (£ ABC) =m (£ BDE) =90°
sm (£ E) =30°

» D is the midpoint of AC
Prove that : AC = BE

G

(6)

In the opposite figure :

m (£ BAC)=m (£ CBE)=90°
m (£ BEC)=30° »

D and F are the midpoints of BC
and CE respectively.

Prove that : AD = -1 BF

7)

In the opposite figure :

ACBD is a quadrilateral in which :
AB=BC=CA=BD

sm (£ ABD) = 24°

Find : m (£ CAD)

(8)

In the opposite figure :

ABC is a triangle »

AC =BC > AD // BC »m (£ DAC) = 40°
Find : The measure of angles in the A ABC

w

In the opposite figure :
AB=AD >sm (£ A)=30°
CB=BD=CD

Find : m (£ CBA)

In the opposite figure :

AD bisects 2 BAC

sm (£ B) =30°

sm (£ C)=70°

Prove that : A ADC is isosceles triangle.
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Y
(11) | Inthe opposite figure : R §>
ABC is a triangle in which AB =AC » X EAB » ¢
Y EAC and XY // BC amamn <
Prove that : the triangle AXY is isosceles triangle. %
& B A
Y
(1 2) In the opposite figure : o §>
m(ZB)=m(£C)>AB=(2X-1)cm. . ;&
AC = (X +3) cm. I\ ¢
»BC = (9 - X) cm. |5 §>
Find with proof the perimeter of A ABC CGogem B %
)
(1 3) In the opposite figure : L Y
XL=XYsZL=27ZY » §>
M is the midpoint of LY z X Y
Prove that : s §>
X s M »Z are on the same straight line. %
)
(14) | In the opposite figure : 2 Y
Arrange the angles of A ABC 1= 5 §>
descendingly due to their measures ¢ = B §>
)
D Qo
(1 5) In the opposite figure : ;&
AD>DC /\ )
C A Y
and AB > BC \/ <
)
Prove that : m (£ BCD) > m (£ BAD) B ) §>
)
(16) | In the opposite figure : A §>
ABCisa triﬁle ’ . X )
AB>AC s XY //BC §>
Prove that : m (£ AYX) > m (£ AXY) & 3 ¢
In the opposite figure : A ¢
AB =8 cm. » <
)
BC=7cm., Y
CD=4cm. sAD =6 cm. §>
Prove that : m (£ BCD) > m (£ BAD) §>
)
¢
4
Y
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(1 8) L[] In the opposite figure : A
ABNCD={M},AC.LCDand BD.LCD /J
D
Prove that : M C
AB>CD
B
(19) In the opposite figure :

ABC is a triangle » D ECB »
EEAC > m (£ ABD) = 110°
and m (£ BCE) = 120°
Prove that : AB >BC

o
10

\D'JQ
LR
o

(@]
>::>
o

o]

In the opposite figure :

AD / BC >m (£ BAC) = 80° and m (£ DAC) = 30°
Prove that :

BC>AB

o

2, !1

>

(!

In the opposite figure :
ABC is a triangle in which M is a point inside it.

Pl_'ove that :

MA + MB + MC > % the perimeter of the triangle ABC

>>
o

0

los]
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